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1. FHRELT(X) = (L—x*)(x* +ax+b) KGRI T BHL x=-2 X7, W f(x) BHAEH :
T SRR WG, S D EARYE DR a, b OE, B DR f(x) B,
f(X) EIS T B x=—2 %88, M f(-2—X) = f(=2+X) fEHEL, B f(X)= f(-4—x)18
FROL. WS TR AR, 1R RE f (X) PN Z R, X -3, -SHUAREIES, N
MmM-3, -5k x*+ax+b=0Mmik.

Bk, SRa, b mRhrik:

(-3)* -3a+b =0,

(-5)* -5a+b=0.

(-3)+(-5)=-a,

(-3)-(-5) =h.

WA AfKab, H-3, 5Hx2+ax+b=0MFHH, W x*+ax+b=(x+3)(x+5)
xR, F(X) = (1-x*)(x+3)(x+5)

=—(X-D(x+1)(x+3)(x+5)

=—(X=D)(x+5)- (x+1)(x+3)

=—(X* +4x-5)(X* +4x+3)

At=x>+4x, t=(x+2)*-42-4,

mg(t)=—(t-5)(t+3)=—(t-1)°+16 (t>-4) .
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Ht =11, g(t) FBOER 16, M f(x) FIEKAEA 16.
c g b g f(X) i 2 f(1)=%, 4F(X)F(y)=fF(x+y)+f(x=y) (x,yeR), I

f(2019) f (202«
gt AR TR BOTRER S, 2R .

TRIFEERAT () F(y) = F(X+y)+ f(X—y) TR X, y e RFESKAL, X X, y BURFER I EUE
BB AR A .

figik—. @i f(2), £(3), f(4), - T, RIUE B

R BEARE O Q) =%, Ly =1, T CAER AT, F () = f(x+D)+ f (x—1)
XRE, B Xl X +1, 18 f(x+1) = f(x+2)+ f(X), B3R WE f(x+2)=—f(x-1),
Bl f(x+3)=—F(X), B x#px+3, 15 f(x+6)=—F(x+3), ALl f(x+6)= f(x).X
B (x) MR 6.

FrLl £ (2019) = f(3)=—f(0), Fak f(0).

EAF () F(Y) = fF(x+y)+ f(x—y) i,

Bx=1y=0, MA4f@)fO)=f@Q)+fQ), fif@)= ﬁﬁuf(O)__

b T (2019) = —% ,

< f(2020) = f(4)=—f(1)=—%,

Frel f(2019) + f(2020) = —%

X+1

3. BHERE f(X)(xeR)iHeE f(-x)=2—f(X), zﬁﬁﬂiﬂty-—% y=f(x) BRI A

7'3()(1,yl),(Xz,yz),"',(Xm,ym),mUZ(Xi+yi)= ( )
i=1
(A0 (B) m (C) 2m (D) 4m

Gibie T (=X)=2— F ()78 T (x) %F (0. 1) %%, ﬁﬁy—x+1

=1+- 1139%?(0 1) R,

L —. RREE

X+1

A% & 4 AR 1 — A ik ok 80 F(X) =X +1, %%ﬂziﬁzy——ﬂly X+1 45 P> A2 A



2
(-10).(L2), Wim=2, D.(x+Y)=2, #ikB.
i=1
fiiik .
FRLEREE PR S M e ﬁf&%ﬁi%éﬂ?@ﬂ:ﬁ (0,1) st Hi i1 1. Tk T4 — AR
MG YD) (6L Y) X +x =0,y +y =2, YitY'=2,

FLLY (5 +3)= YK + 3y =0+2:7=m, ik B,

4. BaEE f(X) =x2 -2x+a@* +e ) Hm—E L, Mas=
A. —l B. l C. E D. 1
2 3 2
ST DM TR a@ ™ + e = —x% + 22X BH .
AR (R E M _ED:

Bh(X)=—x"+2x, g(x)=e"+e™, Mg h(x) 5 ag(x) B S MHE—= 54,
1

ex—l

Ng(x)=et+e M ="+ —— =2, HHALY x =1 BEi/ME 2.

R0 = —(X—12 +1<<1, B x = LA BE AL K 1,

ag(x) = h(x) f—H% i, Ma= % . ik C.

SOF BORRIER. (HREAETE AL, Ma >0, AR BYa<0n, (X
S T 2 75— 22 .

Kl 1 g(x) =3—2—f =0 U ELY x =1 M 2.

1

#ag(x) =h(x) AmE—m= s, WA—EHa= >
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Efif: #h(X)=—x"+2x, g(X)=a(e**+e™), W5mmm e gg%T X =105, #
P S, A (L) = g (1) A, ASE R R
%h@zgm,ﬁa:%

o1,
E%a=§mﬂ%ﬁ.



